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DATA

The collection of facts which are expressed
numerically with the specific purpose is called
data. or appropriate information and facts called
data.

For example,

Three people died in
accident of two cars.

1. | Some people died in
accident of two cars

2. | Sachin made highest | Sachin made 190
runs in today's match | runs in  today's
match

TYPES OF DATA

SOME TERMS

@

@

(i) Primary data

(i1) Secondary data

(iii)) Raw (ungrouped) data
(iv) Grouped data

Primary data : The data which is collected by
the observer is called Primary data.

Secondary data : The secondary data is not
collected by observer. It is obtained from
published or unpublished sources.

Note: The Primary data is more reliable than the
secondary data as the information collected by
observer is more accurate in comparison to
information collected by another person (other
than observer).

Raw data : The data which is collected for
specific purpose and put as it is (without any
arrangement) is called raw data. Each entry
(number) in raw data is known as observation.

Grouped data : If representation of data are with
some group, is called grouped data.

For example : 5, 7, 9, 11, 11, 15, 16, 19, 21, 22,
23, 24,26, 29, 30.

In grouped form : 0 — 10, 10 — 20, 20 — 30, etc.
Each group is called class.

Array : To understand the data in better way, we
arrange the data either in ascending order or
descending order which is called an array.

Range : The difference between the highest and
lowest values of the given data is called range.
For example, 0, 3, 8, 10, 10, 12, 18, 19, 19, 20

So, Range =20-0=20

Frequency : The number of times a particular
observation occurs is called its frequency. It is
denoted by (fj).



@ Tally Marks : The way of representation of
frequency numbers is called tally marks.

One | Six TH\L |
Two | | Seven TH\L | |
Three | | | Eight TH\L || |
R
five TH\L Ten TH\L TH\L

FREQUENCY DISTRIBUTION TABLE

If we rearrange above data in the tabular form,
showing the frequency of each observation, the
tabular form of representation of the data is called
frequency distribution and the table is called
frequency table.

s EXAMPLES <

Ex.1 The number of children in 20 families of a
locality are given below :

2,2,3,2,1,3,3,2,2,1,2,2,3,1,2,1, 1, 3,

2,2
Represent this information in a frequency
distribution table.
Sol. Arranging the data in ascending order, we
have
bld513.2205 2024221894
S times 10 times 5 times
Number Number of
of Children | T2HYMarks | g ilies

1 I 5

2 NI 5+5=10

3 ML 5

Total 20

Ex.2 A die is a cube where six faces are marked
with numbers (or dots) from 1 to 6 one
number on each face. The score obtained in
25 throws are 5,4,3,2,1,1,2,5,4,6,6,6, 3,
2,1,4,3,2,1,5,5,6,2, 1 and 3. Prepare a
frequency table for the above scores.

Sol. Arranging the data in ascending order as
follows :

Wbl 32252 3333 44

5 times 5 times 4 times 3 times

1235 1646

4 times 4 times

The frequency distribution table is as under :

Scores Tally Marks Frequency

1 M 5

2 M 5

3 i 4
4 i 3
5 i 4
6 i 4

Total 25

CENTRAL TENDENCY AND ITS TYPES

Average is a number that represents or shows the
central tendency of the given data.

Types of ]
central tendency )

Arithmetic mean
or Mean

Median

@ Arithmetic mean :
Mean

Sum of the given observations (Zx)

~ Number of the given observations (n)

s EXAMPLES <

Ex.3  The maximum temperature recorded in a city
during the last six months of a year are given
below. Find the mean of the maximum
temperature.

Month July | Aug. | Sep. | Oct. | Nov. | Dec.

Maximum

Temp. (in °C)

42 | 40 | 40 | 37 | 29 | 22




Sol.

Ex.4

Sol.

Ex.5

Sol.

Total temp. =42 +40+40+37+29+22=210
Number of months = 6

. . Sum of temperature
Arithmetic mean = P

Number of months

210
6

=35

Thus, average or mean temperature = 35°C.

The average or mean weight of 50 students of
a class is 32 kg. Find the total weight of the
students.

Sum of all the items

® Mean = -
Number of items

or Mean x Number of items = Sum of all the
items

For the given data, we have

Number of item (students) = 50

Average or Mean weight = 32 kg

From the formula we have

Sum of all weights = (32 x 50) kg
=1600 kg

The runs scored by two batsman in their
recent five matches are given as below :

Batsman-I 81 75 | 71 69 | 74

Batsman-IT | 12 | 81 5 105 | 117

Who performed better ?

Arithmetic mean of the scores of Batsman-I

_ 81475+71469+74
5
_ 370 _ o4
5

Arithmetic mean of the scores of Batsman-II

__12+81+5+&05+117
5
I
5

The mean of the scores of Batsman-I is more
than the mean of the scores of Batsman-II.
So, the performance of Batsman-I is better.

Note : The average or mean is helpful for
making comparisons.

ARITHMETIC MEAN OF TABULATED DATA

Let x1, X2, X3, ...., Xn are n observations and f}, >,
f3, ....., fu are their frequencies respectively.
Observation (xi) | Frequency (f) Xi X fi
X1 fi xifi
X2 f xof?
)\ )\ )\
Xn f Xnfn
Total >fi=N >xifi
Mean = (f,x, +6x, +65x5 +..+,x,)

f+6 +f5+..+1)

(Z (called sigma) shows addition.)

)

Zn:(fixl
or X=-4=L
(N)
Here N = ifi

i=1

s EXAMPLE <

Ex.6  The ages (in years) of 50 players are given

below :
Age (in years) 24 | 25 | 26 | 27 | 28
Number of players | 14 | 15 3 10 | 8
Find mean age.
Sol.
Age in years (X;) | No. of players (f}) xi X fi
24 14 336
25 15 375
26 3 78
27 10 270
28 8 224
Total > =50 Zxiyi = 1283
Mean = 2h) _ 1283
xf; 50
Mean = 25.66




MEDIAN

The another method for finding central tendency
called median.

@

@

Ex.7

Sol.

Ex.8

Sol.

Definition : The median is that value of the
given data, which divides it into exactly two
parts.

Method : Arrange the data in ascending or
descending order. Let the total number of
observations be 7.

Case I : When n is odd

= Median = [nTH] th term.

s EXAMPLES <

Find median of the data 34, 46, 56, 27, 28,
35, 45.

First arranging in ascending order, we get
27,28, 34, 45, 46, 56

Here, n = 7(which is odd)

Median = (%] th term

= [%) th term = 4™ term

=35 (4" term)
Median = 35

Case II : When n is even

n th term + E+1 th term
2 2

2
The weights of 8 students (in kg) are :
30,42, 24,37, 21, 25, 38, 31. Find median.

= Median =

Arranging the weights in ascending order, we
get 21,24, 25,30,31, 37, 38,42

n = 8§ (even)

(;jth term + (121 + l)th term
Median =

2

(8)th term + [8 + ljth term
2 2

2

4th term + 5th term
2

30+31 _ 61
2 2

Median weight = 30.5 kg.

Ex.9

Sol.

Ex.10

Sol.

Find the median of the following data :
97,93, 67, 100, 95, 98, 94

On arranging the data in ascending order, we
get 67, 93, 94, 95, 97, 98, 100

Number of observations = 7 (odd)
Middle number is 4

Median = 4™ number = 95
Working rule to find median.
Steps :

(1) Arrange the data
descending order.

in ascending or

(i) Count the number of items.

(iii) If it is odd, observe one middle value and
write it as median and if it is even,
observe the two middle values and find
median by the following formula :

Sum of the middle values
2

Median =

Given the mean of 5 numbers is 25. If the
four numbers are 16, 26, 20, 32, find the fifth
number.

Let the missing number be x.
Then sum of the numbers
=16+26+204+32+x=94+x

Now Mean = Sum of thse numbers

5 x Mean = Sum of the numbers
ie,5x25=94+x

or 125=94+x =>x=125-94=31
Thus, the fifth number is 31.



Ex.11 A data is given as below in which one
number was missed by the observer :

18, 16, 37, 40, 28, 20, ....., 35

If the median of the data is 26, find the
missing number.

Sol. On arranging the given numbers in ascending
order, we get

16, 18, 20, 28, 35, 37, 40

There are 8 numbers including the missing
number.

But median is 26 which is less than 28.

Also for 8 numbers, the middle numbers will
be 4" and 5. Thus, the missing number must
be at 4" place.

Now, Median = M

_ Missing number + 28
2

or 26 x 2 = Missing number + 28

or 26

or 52 =Missing number + 28

or Missing number = 52 — 28 =24
Ex.12 Find the median of first five multiples of 6.
Sol. The first five multiples of 6 are :

6,12, 18,24, 30
which are in ascending order.
n =15 (odd)

Median value = (HTH) th value

= (%) th value = 3" value

Median value = 18

MODE

This is also used for central tendency.

@ Definition The observation which has
maximum frequency is called the mode.

< EXAMPLES %

Ex.13 Find mean, median and mode of the
following data. Choose the best average(s) to
represent the data. 3, 11,7, 5, 17, 11

Sol. Mean : Sum of the numbers
=3+11+7+5+17+11=54

Sum of the numbers

Mean = =ﬁ=9
6

Number of items
Mode : 11 as it occurs two times.
Mode =11
Median :

Step 1 : On arranging the data in ascending
order, we get

3,5,7,11, 11, 17
Step 2 : Two middle values are 7 and 11.
Median = 7l =9

We find that mean and median are the same
and are in the centre of the data. The mode is
not an appropriate central value for this data.

Ex.14 Find the mode of numbers
2,2,2,2,3,3,3,4,4,5,5,5,6,6,8,8

Sol.
Number | Tally Marks |Frequency
2 ] 4
3 [l 3
4 | 2
5 [l 3
6 | 2
8 | 2

Number 2 has highest frequency (4), so mode is 2.
Ex.15 Find the mode of the following data :
2,5,4,7,5,5,8,12,8,9

Sol.
Number | Tally Marks |Frequency
2 | 1
4 | 1
5 il 3
7 | 1
8 | 2
9 | 1
12 | 1

The number 5 has the highest frequency 3.
Hence mode of given numbers is 5.



Ex.16 The following table shows the marks obtained

Sol.

Ex.17

Sol.

by 40 students of class VII :

Marks obtained | 30 | 25 | 23 | 19 | 17 | 14

No. of Students | 3 2 4 11|13 | 7

Find the mode.

As the marks obtained by maximum students
is 17 so the mode of the given data is 17.

The scores in mathematics test (out of 30) of
15 students are as follows :

20, 19, 12, 25, 24, 23, 20, 25, 20, 16, 9, 20,
15,10, 5

Find mean, median and mode. Are they equal?
As we know that

Sum of all observations

Mean = ;
Total number of observations

20+19+12+25+24+23+20+25

_ +20+16+9+20+15+10+5
15
_ 263
15
Mean=17.54

Now arranging the given marks in ascending
order, we get

5,9, 10, 12, 15, 16, 19, 20, 20, 20, 20, 23, 24,
25,25

n =15 (odd)

Median = (nTHj th term

= [15;1] th term
= 8" term
Median marks =20
Mode :
Marks Tally Marks Frequency
5 | 1
9 | 1
10 | 1
12 | 1
15 | 1

BAR GRAPH

16 | 1
19 | 1
20 Ilf 4
23 | 1
24 | 1
25 I 2

Number 20 has the highest frequency i.e., 4,
so, mode marks = 20.

A bar graph is a pictorial representation of the
numerical data by a number of bars (rectangles) of
uniform width erected horizontally or vertically
with equal spacing between them.

Steps :

(i) On a graph paper draw horizontal line and
vertical line OX and OY respectively, which
are called X-axis and Y-axis respectively.

(i1) Marks points at equal space (intervals) along
the X-axis. Below these points write the
names of the data whose values are to be
plotted.

(ii1) Assume (choose) a suitable scale. On that
scale find the heights of the bars for the given
numerical values.

(iv) Mark these heights parallel to Y-axis from the
point taken in step (ii)

(v) Draw bars of equal width for heights marked
in step (iv) on X-axis. The bars should be
centred on the points marked on X-axis.
These bars show the given numerical data.

s EXAMPLES <

Ex.18 Raju recorded the temperature at 2 p.m. for a
week as follows :
Days Mon | Tues | Wed | Thu | Fri | Sat | Sun
Temperature | 5, | 5 | 35 | 30 |20 |38 28
O
Draw a bar graph for the above data.
Sol. We construct the bar graph using the
following steps :
(i) Take a graph paper and draw two

perpendicular lines OX and OY.




(i) Along OX mark "Names of the days" and
along OY "Temperature in °C".

(iii) Along OX, choose suitable width for each
bar.

(iv) Along OY, choose an appropriate scale and
mark the temperature in Celsius.

Here, 1 large division = 10°C

(v) Calculate the heights of various bars as
follows:

(a) Height of bar for Monday

= % x 30 = 3 large divisions.

(b) Height of bar for Tuesday

i x 25 = 2.5 large divisions.

(c) Height of bar for Wednesday

= % x 35 = 3.5 large divisions.

(d) Height of bar for Thursday

= % x 30 = 3 large divisions.

(e) Height of bar for Friday

1

— x 20
10

= 2 large divisions
(f) Height of bar for Saturday

LI
10

= 3.8 large divisions.
(g) Height of bar for Sunday

1
10

x 28

= 2.8 large divisions.
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Ex.19 Answer the following questions for the given
bar graph.

Y

y

100t ]
90 T — —
80 T 1
70 T ]
60 T
50 T
40 T
30 T
20 +
10 +

y + + + L + » X
Ol Mon Tue wed Thu Fri Sat

Number of students
Present in the class

Days of the week

(1) What does the bar graph represent ?

(i1) On which day minimum number of students
attended the class ?

(iii) On which day was the highest attendance
recorded ?

(iv) If all students attended the class on
Wednesday, how many students are there in
the class ?

Sol.(i) Along vertical line, the students who were
present on days of a weak are shown. So the
bar graph represents the attendance of a class
during the days of a week.

(i) The bar for Saturday is the shortest, therefore,
the minimum attendance was on Saturday.

(i) The bar for Wednesday is the highest,
therefore, the maximum/highest attendance
was on Wednesday.

(iv) Take a scale/ruler and put it parallel to the
line OX at the highest point of the bar for
Wednesday. We find that the scale touches
the OY line at 100 marks. So the total number
of students in the class are 100.

DOUBLE BAR GRAPH

A double bar graph is a bar graph that represent
two sets of data on the same graph. The two bars
corresponding to each category are drawn next to
each other.



< EXAMPLES %

Ex.20 The number of two types of drinks sold on

days of a week are given below. Construct a
horizontal double bar graph for the data.

Days Stravaerry Cho?olate
Drinks Drinks

Monday 147 128
Tuesday 80 73
Wednesday 75 69
Thursday 80 90
Friday 75 81
Saturday 190 154
Sunday 165 140

Also find the averages in both types of drinks
and tell for which drink the sale is more.

Sol. Here also, a zig-zag is marked along OX
which shows that marking is skipped and
begins with 50.
Y4 Scale 1 cm = 10 drinks
Shaded bars correspond to strawberry drinks
140
S‘m‘m 165
Sat - 134 190
i 81
4 90
Thu mvﬁgo
Wed-SRRRRRS 75
Tue -foeeeeeeestd 50
128
Mon | 147
AAAV 4y
VW | | | | | | | | | | | | | | L X
°| 28R2382RRSRBERER

Number of drinks sold

Now, Average (mean) sale of strawberry

drinks

147+80+75+80+75+190+165

812

7

= - = 116 strawberry drinks

Average (mean) sale of chocolate drinks

_ 128+ 73+69+90+81+154+140

7

Ex.21

(@)

(i)

= E = 105 chocolate drinks

7

Therefore, the average sale of strawberry
drinks is more than the average sale of
chocolate drinks.

The minimum and maximum temperature of
different cities on a particular day are given
below :

Cities Temperature
Minimum | Maximum
Ambala 26°C 37°C
Chennai 27°C 36°C
Bangalore 24°C 28°C
Delhi 28°C 38°C
Jaipur 29°C 39°C
Jammu 26°C 41°C
Bhopal 25°C 35°C

Construct a vertical double bar graph. Also
answer the following questions on the basis
of the bar graph :

Which city has the greatest difference in the
minimum and maximum temperatures on the
given day ?

Which is the hottest city and which is the
coldest city ?

(iii) Name the city which has the least difference

between the minimum and maximum

temperatures.

(iv) Name the two cities where the maximum

Sol. (i)

temperature of one was less than the

minimum temperature of the other.

Difference in temperatures for various cities :

Ambala (37-26)C=11°C
Chennai (36 -27)°C=9°C

Bangalore (28 —24)°C =4°C

Delhi (38 —28)°C=10°C
Jaipur (39 -29)°C=10°C
Jammu (41 -26)°C=15°C
Bhopal (35-25)C=10°C

Greatest difference is in Jammu.



Scale : 0.5 cm= 1°C
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(i) Hottest city is the city which has the highest

maximum temperature i.e., Jammu.

Coldest city is the city which has the lowest
minimum temperature i.e., Bangalore

(ii1) City with least difference in minimum and

maximum temperatures is Bangalore.

(iv) The maximum temperature of Bangalore is

less than the minimum temperature of Jaipur.

Ex.22 Sales of English and Hindi books in the years

Sol.

(@)

(i)

(a)

(b)

1995, 1996, 1997 and 1998 are given below :

Years | 1995 | 1996 | 1997 | 1998

English | 350 | 400 | 450 | 620

Hindi 500 | 525 | 600 | 650

Draw a double bar graph and answer the
following questions :

In which year was the difference in the sale of
the two language books least ?

Can you say that the demand for English
books rose faster ?

We construct the bar graph using the
following steps :

Take a graph paper and draw two
perpendicular lines OX and OY.

Along OX, mark the years and along OY,
mark the subjects.

(c) We choose a suitable scale to determine the

heights of bars. Here, we choose the scale as
1 large division is equal to 100.

Calculate the height of the bar for the
different years for both subjects.

For year 1995,
Height of bar for English

_ 350
100

= 3.5 large divisions
Height of bar for Hindi

= ﬂ = 5.0 large divisions.
100

For year 1996,
Height of bar for English

_ 400 4 large divisions
100
Height of bar for Hindi
_ 525

= — =15.25 large divisions
100

For year 1997,
Height of bar for English

_ 450
100

= 4.5 large divisions
Height of bar for Hindi

_ 600
100

= 6.0 large divisions
For year 1998,
Height of bar for English

_ 620
100

= 6.2 large divisions
Height of bar for Hindi

_ 650
100

= 6.5 large divisions
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PROBABILITY

(1) In year 1998, the difference in the sale of the
two language books is least.

(i) Yes, the demand for English books rose
faster.

Definition : The measure of the chance of
happening something is called 'probability’.

Measure of Probability :
Probability of a sure or certain happening = 1
Probability of an impossible situation = 0

Probability of an event that may or may not
happen = between 0 and 1.

Basic terms

Experiments : The activities which we perform
to achieve something. Eg. Throw a die, Toss a
coin etc.

Random Experiment : The activities or
experiment whose possible outcomes are known
to us but it is not possible to predict the outcome
when the experiment is performed. The activities
of tossing a coin or throwing a die are random
experiments.

Outcome When a random experiment is
performed, it ends into some happening. Such a
happening is called an outcome of the experiment.

For example, let us list out the outcomes of
following experiments.

Experiment Outcomes

Tossing a coin Head or tail

lor2or3or4orSor6
dots on upper face.

Throwing a die

Two coins tossed | Two heads or two tails or
together one head and one tail

Watching traffic on | There may be an accident
a busy road or all will go smooth

Equally Likely Outcomes :

In a random experiment when all the outcomes
have equal chance to occur or they have equal
probability then the outcomes are called equally
likely.

For example :

(i) Getting head or tail on tossing a coin are
equally likely outcomes.

So each have half-half chance to occur.
or Probability of head = Probability of tail = % .

(i1) Getting 1, 2, 3, 4, 5 or 6 dots on top of a die
are equally likely outcomes. Each outcome has

equal chance or probability that is one-sixth or % .



EXERCISE # 1

Q.1

Q.2
Q3

Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Q.10

Define the terms : (i) Data (ii) Raw Data
(iii) Frequency of an observation

Find the mean of first eight natural numbers.

Find the range and mean of first six prime

numbers.

Find the range and mean of first five multiples
of 4.

A batsman scored the following number of runs

in five innings : 56, 53, 50, 36, 60.

Calculate the mean runs scored by him in an

inning.

The marks (out of 50) obtained by a group of

students in a mathematics test are :

45, 46, 40, 45, 49, 38, 46, 48, 30, 22

Find :

(1) Highest and lowest marks obtained by the
students.

(i1) Range of the marks obtained.

(iil) Mean marks obtained by the group.

(iv) How many students have marks less than

the mean marks ?

The enrolment in a school during five
consecutive years was as follows :

2455, 1720, 1635, 2440, 2802.

Find the mean enrolment of the school for this

period.

Find the range of weights of any ten students of
your class.

Find the median of the following data :

(1) 52,41,22,62,81,71,60,92,91, 40, 31

(i) 92,104, 101, 43, 107, 63, 64, 120, 93, 32

(1ii) 418, 619, 517, 417, 214, 315, 417, 311,
701, 502

Find the median of first 10 even numbers.

Q.11

Q.12
Q.13

Q.14
Q.15
Q.16
Q.17
Q.18

Q.19

Q.20

Q.21

Q.22

Find the median of all prime numbers lying

between 1 and 50.
Find the median of first 30 whole numbers.

(i) The ages (in years) of 8 teachers in a
school are: 50, 40, 36, 31, 43, 52, 46, 53.
Find median age.

(i) The marks of 11 students (out of 50) in an
examination are : 35, 21, 24, 17, 23, 29, 25,
19, 17, 19, 40. Find the median marks.

Find the mean of first 15 even numbers.
Find the mean of first 8 odd numbers.
Find the mean of first 5 multiples of 7.
Find the average of first 8 whole numbers.

In a class of 40 students, the average weight is
51 kg. Find the total weight of all students.

The average height of 25 students is 150 cm.
What is the total height of all students.

Find the missing numbers in the following :
(1) 21, 25, 29, ...., 31, 33 and mean = 28

(i) 41,43, ...... , 47,49, 51 and mean = 46
(iii) 11, 13, 18, ....., 14, 21, 26 and mean = 17
(iv) 50, 48, ...., 41, 30 and mean = 43.

Mean marks obtained by a student in his five
subjects are 15. In English he secured 8 marks,
in Hindi 12, in Mathematics 18, and in Science
9. Find out the marks secured by him in

History.

Make a frequency distribution table for each of

the following data :

(17,6,5,3,7,6,7,5,3,2,5,3

(i) 51, 54, 61, 53, 55, 51, 54, 61, 53, 55, 51,
51, 53,61, 55,55,53



Q.23 The following data gives the number of
students of Delhi-state who abroad for study
during the following years :

Year |1995| 1996 | 1997 | 1998 | 1999 | 2000

Number

of 1400 | 1600 | 1250 | 1000 | 2000 | 2200

Students
Represent the above data with the help of bar
graph.

Q.24 In a school, there are five sections of class VII.

The number of students in each section is given
below. Construct a bar graph from this data :

Section A B C D E
Number of
40 48 52 45 30
Students
Q.25 Some of the commodities exported by India in

1982 and their values (in ten crore of rupees)

are given below :

Commodity | Tea | Coffee | Tobacco | Iron ore
Value (in |

91 58 35 33
ten crore)

Q.26

Represent the above data with the help of bar
graph.

The following data gives the number of
applicants registered with an employment
exchange during 1981-1985 :

Year 1981 {1982 | 1983 | 1984 | 1985
Number of applicants
Registered (in 17 19 22 23 26
thousands)

Q.27

Construct a bar graph to represent the above
data.

Check whether the probability for the following
statements is 1, 0 or between O and 1 :

(a) You will do your homework today.

(b) Next year Republic day will be on 26 January.

(c) A newly born baby will be a boy.

(d) Marble drawn from a bag containing 3 black

and 4 white marbles will be of red colour.

(e)

®
(2
(h)

@)
W)
(k)
M

While going for a picnic, you will see an
elephant.

The next vehicle you will see will be a car.

You will sleep at night.

Two intersecting lines intersect each other at a
point.

Sun will rise tomorrow.

You can solve 500 questions in a hour.

You will buy 2 packets of toffees.

Stars will come on Earth.

(m) The die thrown will have 0 (zero) marked on it.

(n)
(0)
(P)

There are 60 seconds in a minute.
The Earth revolves around the Sun.
A leap year has 366 days.



ANSWER KEY

2. 45 3.Range =11, Mean= 6.8 4. Range = 16, Mean = 12
6. (149,22 (i) 27 (iii) 40.9 (iv) 4
7. 22104 8.45kg
9. (i) 60 (1) 92.5 (iii) 417.5 10. 11 11. 19
12. 14.5 13. (i) 44.5 (ii) 23 14. 16 15.8
16. 21 17.4.5 18. 2040 kg 19. 3750 cm
20. (1) 29 (i1) 45 (iii) 16 (iv) 46 21.28
22. (i) Frequency Distribution Table
Number Tally Marks Frequency
2 | 1
3 I 3
5 I 3
6 I 2
7 Il 3
Total 12
(i) Frequency Distribution Table
Number Tally Marks Frequency
51 i 4
53 lli 4
54 I 2
55 i 4
61 Il 3
Total 17

27. (a) between 0 and 1
(f) between 0 and 1
(k) between 0 and 1

(P 1

(b) 1

Mo

(g) between 0 and 1

(c) between 0 and 1
(h) 1
(m) 0

5.51

(d)0
(i) 1
() 1

(e) between 0 and 1
(j) between 0 and 1

(0) 1



EXERCISE # 2

Q.1

Q.2

Following table shows the marks out of 40 of
each student scored in four tests :

Student's Test Test | Test | Test
name I II I v
Ankur 36 26 30 40
Anjali 24 28 36 0

Himani 39 0 14 33

Atul | Did not give| 31 24 30

Now answer the following questions :

(1) Find the mean marks obtained by each
student in four tests.

(i1) To find the mean number of marks per test
for Atul, would you divide the total points
by 4 or 3 ? Why

(i) Who is the best performer ?

The following table shows the weights (in kg)
of 10 workers in a factory :

Weight (inkg) | 56 | 53 58 62 65

No. of workers 3 3 2 1 1

Q3

Q.4

Q.5

Q.6

Calculate the mean weight.

Find the mode of the data :
7,6,7,14,12,8,7,4,8,9,7

Find the mode of the data :
38,37, 33, 49, 28, 37, 21, 37, 37, 40, 36, 37

Find the mean, median and mode for the
following data :
12, 3, 18, 7, 4, 9, 7, 19, 20, 15, 8, 17, 2.
Are they equal ?

There are 6 identical cards in a box with

numbers from 1 to 6 marked on each of them.

(1) What is the probability of drawing a card
with number 3 ?

(il) What is the probability of drawing a card
with number 4 ?

Q.7

Q.8

Q.9

Q.10

Q.11

Q.12

Q.13
Q.14
Q.15

Q.16

A coin is tossed to decide which team starts the
game. What is the probability that your team
will start ?

Arrange the series in ascending order and
calculate mode :
15, 18, 19, 20, 18, 18, 22, 25, 26, 30, 20

For what value of x, the mode of the following
datais 11 ?
7,9,11,17,11,19,21,9,x -4

For what value of x, the mode of the following
data is 18 ?
31,35,17,18, 17, 18,40, x + 12

For what value of x, the mode of the following
data is 26 ?
21,51, 24,26,24,26,35,x—1

The age of 10 students are given as :
12.5,15.5, 19, 13.5, 19, 16.5, 19, 18.5, 19, 17.5

Calculate mode.
Find the median of first 10 odd numbers.
Find the median of first 8 even numbers.

If 10, 13, 15,18, x + 1, x + 3, 30, 32, 35, 41 are
ten observations in an ascending order with

median 24, find the value of x.

Following data gives total marks (out of 600)
obtained by five students of a particular class.

Student
name

Amit | Abhinav | Bhanu | Deepak | Geetika

Marks
obtained

250 400 200 260 300

(i) Who scored lowest and who scored highest
marks ?

(i1) Draw the bar graph for the given table.



Q.17  The performance of students in half-yearly and
annual examination is as given below. Draw a
double bar graph choosing appropriate scale
and answer the following :

Subject | Eng. | Phy. |Chem.| Maths | H.Sc.
Half

58 60 77 70 62
yearly

Annual | 60 54 84 74 64

(1) In which subject, has the children improved
their performance the most ?

(il) Has the performance gone down in any
subject ?

Q.18 Number of children in five different sections of
class VI are given below. Represent the data on

a bar graph
Section | A B C D E
Number
of 35 45 35 40 33
Children

(a) How would you choose a scale ?

(b) Which section has the minimum, maximum
number of children ?

(c) Find the ratio of students of section A to
students of section D.

Q.19  Use the bar graph (fig. Given below) to answer
the following questions :

Y } :
- | Pets owned 1
25 by students

[\
o

of class VII
ERneteE:

- Students —
&

=
o]

A
W

Other X
Emsa

o

ogd  Rabbits Catsi

Pet animals —
(i) Which is the most popular pet ?
(i1) How many students have cats as a pet ?
(ii1) Which is the least popular pet ?

Q.20  Read the bar graph (given in fig. below) which
shows the number of books sold by a
bookseller of different five subjects. Answer
the following questions :

700
600[
500,
200 |
300 E
200
{100

T

T

Number of books — |-

A
>

O‘; Eng. S.Sci- IIVIaths Hindi ~ Science
| | Subjects —P | |

(i) How many books of English, Maths & Science

were sold ?
(i) In which subject about 500 books were sold?
About 700 books sold ?

Q.21  Fill in the blanks :
(i) The probability is degree of ........ and .....
(i) The probability of sure event is ........
(iii) The probability of impossible event is ......
(iv) The value of probability lies between ..... and 1.

Q.22 Tell whether the following is certain to happen,

impossible, can happen but not certain :

(i) Tomorrow will be Sunday.

(i) A die when tossed shall land up numbers less
than 7 on top.

(iii) A tossed coin will land up tail.

(iv) You are younger today than yesterday.

(v) In a throw of a coin number getting 1 to 6.

Q.23 A coin is tossed 200 times and head is obtained
80 times. On tossing a coin at random, find the
probability of getting (i) a head (ii) a tail.

Q.24 A dice is tossed 100 times and the outcomes are
noted as shown below :

Outcome | Frequency
1 20
2 10
3 30
4 15
5 17
6 8

When a dice is thrown at random, find the
probability of getting a

(i) 3 (ii) 5 (iii) 1



Q.25 A student found the median 62 of a given data. Q.28 What is the probability of getting an ace if one
Describe and correct his error if any : card is picked up from a well shuffled pack of
44, 45,42, 45,42,48, 52 52 cards ?

Q.26  Calculate the mean for the following data :

Marks No. of Students
20 1
19
16
14
13
12
11
10

W[ | | | N W] N

Q.27 A science teacher wants to see whether the new
technique of teaching, she applied half yearly
were effective or not. She takes the mark of 5
weakest children in the half-yearly test (out of
50) and then the annual test (out of 50) and
recorded following scores obtained by these
students.

Students | A B C D E
Half-
yearly

Annual | 25 41 36 28 35
Draw a double bar graph. Do you think her new

19 40 22 25 30

technique has improved the result of students ?
In  which student you find the Ileast

improvement ?



ANSWER KEY

(1) Ankur =33, Anjali =22, Himani=21.5, Atul =21.25 (i) 4 (iii) Ankur

2. 57 3.7 4.37 5. Mean = 10.85, Median =9, Mode = 7, No
1 N 1
6. (1) — i) — 7. — 8. 18 9.15 10. 6
(1) p (i) 5 5
11. 27 12. 19 13. 10 14.9 15. 22
17.
YA Hal:f yea:rly ]
R A = ~Annual LI
70 | N R
1150 i ] jis ] ]
_“; 70 e SRESS E ERES
Huspi sl sl =
20 BiR [ ] [ ] [ ]
: o[ BER BN e B B
< T X
) ‘k Engllish PhlysicsI IChenllistnll .Ma}ths Holme slcien?e
Subject _»yry

(1) Chemistry (ii) yes, in physics the performance has gone down.
18.

vA
45

 40. o -
35[0 . B
30 ] EReEd

25 ] [ ] ] _
20| T En
RN E HE i

10

e -

] No. of children —

A
A 4

oy |A B ¢ D E

Section —p

(a) scale — 1 large division = 5 children

(b) minimum = E, maximum = B

(©)7:8
19. (i) cats (ii) 25 (iii) Rabbits
20. (i) English = 300, Maths = 500, Science = 400 (ii) Maths, Social Science
21. (i) certainty, uncertainty (ii) one (iii) zero (iv) zero

22. (i) can happen but not certain (ii) certain to happen (iii) can happen but not certain

(iv) impossible (v) Impossible



23.

24.

25.
26.
27.

28.

N2 o 3
Q) g (i1) g
. 3 . 17
(1) E (i1) ﬁ

correct median = 45
Mean = 13.28

oo 1
(iii) 3

i i i T T
YA | Half yearly

4 Annual

Lo

40

35

T

30

25|

T

00 e

- gy =
10}
3

Test (out of 50) —>

A

Oy A B

Subject —p
Yes, Student B
4 1

— le. —
52 13




